g .

Copyright FCI. F

-

REFERENCE SPECIFITCATIONS

-NFC 93425 (in compliance with HE 508) Series DBM' 255500|V||\|
PHYSTCAL CHARACTERISTICS

-INSULATOR MATERITAL: THERMOSET UL94V0
“CONTACT MATERIAL:  BRASS held (526: hE A+ B;): D
GOLD OVER NICKEL Ve nee
-ACCESSORIES: STEEL FOR METAL BRACKETS
Cadmium plated, yellow passivation Front accessory definifion
THERMOPLASTIC UL94V0 FOR PLASTIC BRACKETS (see sheet 2)
BRASS FOR OTHERS ACCESSORIES Bank :without accessory vbligatory for HESOS
Cadmium plated, yellow passivation L : fhreaded insert M3
SoRELLS STEEL 0 threaded insert UNC 4-40
Cadmium plated, yellow passivation V female screw UNC 4-40
LECTRICAL CHARACTERISTICS Layout of contacts (see sheet 3)
-NOMINAL CURRENT: 1. 9A 9,15,25,37,50
-CONTACT RESISTANCE: <=7.3 m Ohms Contacts —
-CONTACT/CONTACT >21000 S Socket
-CONTACT/GROUND >Z1200 Termination %ype —-
-INSULATION RESISTANCE: >=5000 MOhms 5 Right angle/Europe standard
Plating -
ENVIRONMENTAL CHARACTERISTICS | |
00 Right angle 500 matings/unmatings
- CLIMATIC CATEGORY: 55/155/56 ‘ ‘ ‘
43 Right angle 500 matings/unmatings
TEMPERATURE RANGE -55°C TO +155°C for harsh environment
JAMEREAT S TEADT S TATE D6 DATS PCB accessories definifion(see sheet 2) -

SALT SPRAY 48 HOURS Blank ‘Plastic brackets
MECHANICAL CHARACTERISTICS C Without brackets
RETENTION AGAINST TORQUE: -Threaded insert:0.7 N.m min M Metal brackefs

-Female screw: 0.5 N.m min

|
L (@@@@@@@ CACAS @WW @ ==
k@@@@@@@@@@@@ﬂ ﬂ
L ALA R -

surface - tolerance std |projection
2o WAY FOR EXAMPLE www. fciconnect.com 1S0 1302 \/ 1SO 406  1SO 110 @S mm
TOLERANCES UNLESS OTHERWISE SPECIFIED
Or | M PESSON 2006/11/14 0.X +0.3 size Scale
fefecnno Jdr] date Jeng [P EGARE 2006/ 11714 """ Linear [ om 0.1 A2 2.
A NS00 0 TANPE 2008 /L TIAR e TP L EGARE | 2006/ 11/14 | o [« 0. xxx | +0.05 ECN 1S06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
a | - pt Rev.
\/}J T with right angle contact = A
catalog no - CUSTOMER [sheet 1 of 3

2 3 4 J 6 1 8

DA o A Dol - | .
JIVIL. T\CTV. A\ STATUSINCITAOCTU Frmed. UCt UL, ZULU




S .

Copyright FCI. Fc

-

D310 +0.]

D310+

@310 £10.1

—

|

( (  ( * I
| 57 1 [& \1 —— b :L : \>ﬁ\ Vﬁ%4lﬁ \E%\ : \E;i?iéﬂ :L
\ (
|
AN ==l A R I | Fo LI NI R }
FRONT ACCESSORY L insert M3

Blank Without

O insert UNC 4. 40

V female screw UNC 4. 40

Blank Without

L insert M3
O insert UNC 4.40

Vv

female screw UNC 4.40

PCB ACCESSORITES

C  Withou!

C Without

C  Without

M Metal brocket

M Metal bracket

\1 Metal bracket

+0.05

#3.20 0

D310 0.1

?3.20 0

=]
+

il

7 e

I I\ 3

0.20 £0.

[ V) L

]

FRONT ACCESSORY

Blank Without

L insert M3
O insert UNC 4.40

V.  female screw UNC 4. 40

PCB ACCESSORTES

Blank Plastic bracket

Blank Plastic bracket

Blank Plastic bracket

surface - tolerance std |projection
www . fciconnect. com 1S0O 1302 \/ 1SO 406 15O 1101 @*E} mm
TOLERANCES UNLESS OTHERWISE SPECIFIED -—
Dr |M PESSON 2006/ 11/14 ANGULAR 0.X +0.3 size Scale
Eng | P LEGARE 2006/ 11/14 LINEAR | 0.xx +0. | A7 20
Chr | P LEGARE 2006/ 11 /14 |0 ‘if 0. XXX +0.05 ECN LS06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
Al - o Rev.
ﬁj} T with right ongle contact © A
catalog no CUSTOMER |shee% 2 of 9
6

8

DA o A
JIVIL. T\CTV. A\

Raol el
STATUSINCITAOCTU

PTied Ot 01,2010




2 3 4 5 6 1 8
A
o FRONT PCB | FRONT PCH
shell size Contact number
PART NUMBER ACCESSORY ACCESSORY y vy PART NUMBER ACCESSORY ACCESSORY
D¥Mx xSS500CN without without D¥MxxS543CN without without
D¥MLxxS500CN insert M3 without E 09 D¥MLxxS543CN insert M3 without
B D*MOx xS500CN nsert UNC 440 without A |5 D*¥MOx xS543CN nsert UNC 440 without
DxMVxxSS500CN female screw UNC 4.40 without i 26 DxMVxxS543CN female screw UNC 4.40 without
D¥Mx xSS00MN without Metal bracket D*MxxS543MN without Metal bracket
D¥MLxxS500MN insert M3 Metal bracket : 37 DAMLxxS54 3MN insert M3 Metal bracket
N D¥MOx xS500MN insert UNC 4.40 Metal bracket ) 50 D*MOx xS54 3MN insert UNC 4.40 Metal bracket
D¥MVxxSSO00MN female screw UNC 4.40 Metal bracket DxMVxxS543MN female screw UNC 4.40 Metal bracket
DaxMxxSH5O0N without Plastic bracket DxMxxS543N without Plastic bracket
C D*MLxxSS500N insert M3 Plastic bracket DML xxSS543N insert M3 Plastic bracket
DxMOxxSS00N insert UNC 4. 40 Plastic bracket DxMOxxS543N insert UNC 4. 40 Plastic bracket
D*MVxxSS500N female screw UNC 4.40 Plastic bracket D*MVxxSS543N female screw UNC 4.40 Plastic bracket
0 CROSS REFERENCES HES08 and FCI
/ FRONT
1508 P/N FCLTRN ACCESSORY ACCESSORY
HESO08PxxVSo6 D¥Mx xSS00N without Plastic bracket
HES508Mx xVSo D¥Mx xSH500MN without Metal bravket
E
)
= surface - tolerance std |projection
? www . fciconnect . com IS0 1302 \/ SO 406  1SO 1101 mm
§ TOLERANCES UNLESS OTHERWISE SPECIFIED @76 L ]
< Dr |M PESSON 2006/ 11 /14 ANGUL AR 0.X +0.3 size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | 0.xx £0. | A7 2: 1
Chr | P LEGARE 2006/ 11 /14 OO‘iEO 0. XXX +0.05 ECN LSO06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
Fc'! © SUB FEMALE DM HES508 series|-  (0/.8637-1748 |
ﬁj ~ with right angle contact < A
catalog no CUSTOMER |shee% 3 0f 9
2 3 4 5 6 8

Raol el
STATUSINCITAOCTU

PTied Ot 01,2010




2 3 6 1 8
DIMENSTON FOR SHELL E, A, B,C WITHOUT BRACKET
A B0.63 +0.03
"‘TT‘HHHH‘THT]HH‘ Dimensions are in millimeters
| |
— Ot ottt N | shel umber of |y TG I e g [T g T
@ SQQQQQ ;@;‘@‘@‘Q‘@‘Q‘ @ size contacts
OO0 000O000000 F 00  130.43 |16.21 [24.99 | 10.64 505 19,072
Nl b -
B _ A D 38.76 [24.54 |33.32 | 10.64 5. 05 27.25
= | 25 |52.65 [38.25 |47.04 | 10.64 | 6.05 | 41.02
! - C 37 68 94 |54.71 |63.50 | 0. 64 5 05 57 45
| | N G — |
C = _ S r
E eamumw
ik | | ) T ¥
; | - i T | r I
j ; : | j
: _ =
ES NI - LAYOUT DIMENSTONS
A _
B B Z0.9 mini
_ C _ T 5 ST 3537 [1.38 shell 25 37]
1 = . = [2.74 shell 09-15] [1.37 shell 09-15]
- - e (216 shel] 2573 : ‘ ob bdboolooooold
' — [2.74 shell 05-19] L %> 0000000 O0O0O0O0O0o0 @
3 — / .
| 7 3 i
m ~ @@@@@@@@@@@@@\/ oy ! P e T 1
(rd Q00000000 G | '
A j — (
= | L NS
| T L
§ @SOO 70 — — —— ANT:LUELR::CES UNLESS OTHEORYVX\SE SPECi\;\SED — -——SCO‘e
F [1.38 shell 25-37] Eng | P LEGARE | 2006/11/14 LINEAR | 0.xx +0. A2 2|
L Chr | P LEGARE 2006/ 11/714 0°‘i2° 0. XXX +0.05 ECN LS06-0174
“.37 shell 097‘5‘ Appr | P LEGARE 2006/ 11/14 JProduct family - | Spec ref
L/ T owith right angle contact o
J catalog nog : CUSTOMER [sheet 4 0f 9
2 3 ) 6 8

v
©
)
q

p 3

Raol el
STATUSINCITAOCTU

PriTed

. UCL

Ul, ZU1U




2 3 5 6 1 8
DIMENSTON FOR SHELL SI/ZE £, A B C WITH METAL BRACKETS
A L 2063 400
illi i Dimensions are in millimeters
‘ \7\7\7\7\7\7\7\7\7\7\7\7\77\7 7\7\7\7\7\ | +O76 +025 +O57 +025 . |
~ e — AR AR AR BRI — etijtmber o oo" " B w0 T | (02 | F oo 6O
— \Q\ \Q\Q\@\Q Q\@ . Q\@\@\ - ‘ -
Bddbddddddddddd i 09 30.43 |16.21 124.99 |10 64 5 05 19.07
. = i A D 38 76 |24.54 |33.32 |10 64 5 05 57 95
H = ] 5 52.65 [38.25 |47.04 |10 64 5 05 41 .07
) - C| 37 [68.94 |54.71 [63.50 | 10.64 | 6.05 | 57.45
1.2+ B
NN = T |
C| — AN v 1 — |
i [ |
g @ ‘ | | | | | | | | | | | | ‘ @ ‘ ‘ | ‘ ‘ i j
1 e = T 2
' e il |
| ; | -
’ - ~ ! - ey || LAYOUT DIMENSIONS
20,9 mini
_ C _ T 5 ST 3537 [1.38 shell 25 37]
n i . = (274 shell 09-15] [1.37 shell 09-19]
<H - = : - B
o | N
i = [2.76 shell 25-37] ! | \@ ‘
: * 5 ‘ O O O 0 olo o 0o o0 00
B 2. T4 she T 09-15] | <1 0000000 O0O0O0O0O0o0 @
E 2 Nv 1 | L[ |
|
) {j/b@@@@@@@@@@@§7< | e -
g ) 0000000 0/Q 006 —~F—; |
\ j - B C
2| = T s
= P o o ) (e WP (][] -~ surface - tolerance std |projection
Z [ www . fciconnect . com IS0 1302 \/ SO 406  1SO 1101 mm
i TOLERANCES UNLESS OTHERWISE SPECIFIED @76 L ]
S Dr | M PESSON 2006/ 11/714 0.X +0.3 size Scale
F [7.38 shell 25-37] Eng | P LEGARE 2006711714 ™MV e ar 0. XX £0. | A7 2: 1
— - Chr | P LEGARE 2006/ 11/714 0°‘i2° 0. XXX +0.05 ECN LS06-0174
“.37 shell 097‘5‘ Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
[~/ T with right angle contact ©
J cotalog nog g CUSTOMER  [sneet 5 of ¢
2 3 4 5 6 L . A8A |




2 3 4 ) 6 1 8
o 2065 £0.0y DIMENSTON FOR SHELL E,A B,C WITH PLASTIC BRACKET
A o m m A MM nm m
Kﬁfﬁf 5 O O A / y Dimensions are in millimeters
RN RiRHatE HIRIRON +0.76 +0.25 +0.57 +0.25 0.5
A/ l@leleleleld|e|elolélelel ||| 2 Sj@ze Ncuommqufcjj A -0 3 -0 Cxo02 | F G -0 H .,
] /N ddowdddodddod |||\
@\ /@ | H 09 30.45 1o, 21 2499 10 64 6 05 19, 07
o Al 1o (3876 |24.54 |33.32 | 10.64 | 6.05 | 27.25
H -
| = - ~ ] /5 52.65 38.25 |47.04 | 10.64 505 4107
. C| 37 168.94 |54.71 [63.50 | 10.64 | 605 | 57.45
N 1.2 400 _ B
A ' N
| e 2999999999999 © ——
; ‘ | | | | | | | | | | | | ‘ ‘ | ‘ j
! = = ' j | J = N
I J I o W | I
7 ; = -
D : ) h b tos | | :
- — — LAYOUT DIMENSTONS
0.9 min
C - T 5 ST 3537 [1.38 shell 25 37]
) ; = | | T4 sheTT 09-T5] [I.37 shell 09-15]
- - = N
- [2.76 shell 25-37] ' | \@ ‘
- — ‘ O O O 0O 0O|l0O O 0O 0 0|0
‘ 1 E | 274 shell 095¥ﬂ | %> © 000000000000 @
a | 7 \ | | |
@ @ @@@@@@@@@@@@@/ @ Lo e
‘g ) | 00000000/Q00C—H—~Fi—; |
) - (
R N 1 |cO
e T a4
< - i | ‘SSUOV‘;;;@ 7 \;)ojoredni:osuow e mm
i £ s {C onnes Jr o TOLERANCES UNL\Eé OTHERWISE SPECIFIED @76 e
S .y Dr | M PESSON 2006/ 11/714 ANGUL AR 0.X +0.3 size Scale
A L [L36 shell 25°37] e A e e
“.37 shel | 097‘5‘ Appr | P LEGARE 2006/ 11 /14 | Product family | — Spec ref
[~/ oW ri angle contac ©
/ CG*O‘:;M = - — CUSTOMER |shee*6of9
2 3 4 5 6 L . ASA |




A ARanaaaaaAnRAnRaRARnaAnAARRARA RS LAYOUT DIMENSIONS
‘ | | | | | | | | | | | | | | | | | ‘ ‘38
: YAt mea s aemGmdtar i ataf s ot aca i B $0.9 nin 2. 76 -
— | VALRANLIVZR I\JT || | | QT QT | | QT || | | | — N
@ ! \QT\%\W\W\ ! \W QW\ ! ! \W\”T\ ! | @ Cfo Y ‘ O O\Q O O O O O ? O O O O O O Ol|l0
GeLLLLLLLLLYLLL LY - | | Q © 0000000000000 0O =
. = ‘ O 0 0O 0O O 0 0 O O 0 0O 0O O 0 O O ‘
[ \ \
B .- 4010 )
55,014 _ | ) 511
— ] b6 55 1)1
— I r
L et | 1 (p—— -
gl == e | 3
- - | K | I NS
| * | ]
| | g H
| I I e
D ;? ;? B
+10.17 e = - ) 0.
B ol 11— _ = _ -
= 52.30 00 _
= o
i | N -
& 7@@/
- ab “@@@@@@@@@@@@@@@@SN<]
==\ = CICICICICICICIGIGICICRCORCICICIGIE),
& L %
= surface - tolerance std |projection
= ‘ mm
i‘ ‘ . 38 e {C connes Jr o ‘iSLE‘;EEICES UNL\Eé OT‘HSEC;WZ?O;E SP‘ESCO\ F‘\‘EOD‘ @76 —
S 4:_‘% 2. 16 Dr | M PESSON 2006/ 11714 f 0 0. X 03 |size Scale
F Eng | P LEGARE 2006/ 11/14 L INEAR 0. XX +0. 1 A7 2.
Chr | P LEGARE 2006/ 11/14 |0 ‘if 0. XXX +0.05 ECN LSO06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
, & |© SUB FEMALE DM HES508 series|- ] ] e
SCAtEg FQJ/* with right angle contact g COI 8637 |748 A
catalog no CUSTOMER [sheet 7 of 3
2 3 4 5 6 DAL Do A | | ,\8,J N

065 42000

oLl ST/Zc D WITROUT BRACKET

(50 contacts)




083 40 orcLL oIzt D WITH METAL BRACKET(O0 contacts)

S .

Copyright FCI. Fc

-

AR ARAAARRRARAAR AR RRAR AR RAAA S AYOUT D IMENSIONS
\7 7\7 7\7 \7 7\7 7\7 7\7 7\7 7\7 7\7 7\7 7\77\7 7\7 7\ 7\7 4,—‘ ‘38
T E v | R $0.9 min, 2. 16 -
JT [N (T (T T (T (T g g T T T NS NS NS N | T s N N
@ \WW ! I ! I ! I ! 4 ! I ! I ! I ! Ak ! A ! I ! I ! I ! I ! JT\ @ C+> _ Y ‘ O 0O \Q O O O O O ? O O O O O O Olo
ah odh Ay ) A ) dy A A @) ) A ) dh - A Q O 000000000 00 O0O0 0 O @
L : Ty O O O O O O O O O O O O o o o O
[ | [ \
3 +0.10 —
} 55.07 " _ | ] 61 1]
b6 55 1)1
= = 600 +0 |
} |
T T N T N T T A N T n T T 1
~ C\ o | | | | | | | | | | | | | | | | | o f) ( _ L _ |
7 - R0 A A . it “
?} % ‘ | | I | | | | | | | | I I | | | | | | | | | | | | | | | i ‘ ‘ F - ' “ i
= = & \Q — e -
R = 7 = 74 -
— — Py 1 1
| : y ]
> = 1 1 o
I i; ?g? o ey
< 10 25 — -
- B 0030 _ N 8.6 40
- ~ | ™ -
% 7@/ s !
. (D) ‘0000000 00000000e (D) |
s eI EEIICICICICICICIC |
— S =
UUUUUUUUUUUUUUULUJUUUUUUUUUUUUUU www. fciconnect. com ‘Ssuof‘{;gze \/ TSo‘jorednC\:ojTo(j‘ pée%n _mm_
— — — TOLERANCES UNLESS OTHEORYVX\SE SPECi\;\SED — —
| 38 Eng | P LEGARE 2006711714 MU AR Livear [ o 10| A2 2]
PR T Chr | P LEGARE 2006/ 11 /14 OO‘iEO 0. XXX +0.05 ECN LSO06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
et SCALE:3 Fg) - OUD TEMALE DM HESO0 series) cor-8637-1748 R:’
/ CG*VS‘\Og nof\g angle contac - CUSTOMER |Shee* —
2 3 4 5 6 o 8

D
™

D i, Dol - | .
LJIVI. TA\CV./M\ STATUSINCITAOCTU Frmed. UCt UL, ZULU



2 3 4 J 6 1 8

oncLL SI/Ze D WITH PLASTIC BRACKET (50 contacts)

QLR L EEEERTITIES, AYOUT D MENS 10KS

LT P P P T P T P e P P P P - — @09 276 ‘38 B
N
0] 48148 5 8 b e 8 6 B {E ! o o0booooogooddoodlo
Dol ddddddddd U ‘ ‘ p O 0000000000000 0 0 @
[ o O O 0O O O O O O o0 O O O O O O |
[ 1
QSiO.O —
55.07 " . | ] 51|

S .

Copyright FCI. Fc

-

0.76
h6.55 ', _
h |
mnmmnnnmnnnnmnmmmmmimim {) T = v
Rz A A A | 1 | L]
< 3 A A R W = .
- | | n f ] B o
L;ﬂ ' j Y f ] :
I e S A
3. y ] 3
> A A o>
I N - 23 2? -
o ~r L
- 52.30 7 . = = _ 8.6 1
= =
§ 7@/ I !
= ”@@@@@@@@@@@@@@@@//g) |
s CICICICICICICIGICIGIOIOIOICIONONE) i
>
A A “’
surface - tolerance std |projection
‘ mm
‘ 38 e {C e Jr o ‘iSLE‘;iSCES UNL\Eé OT‘HSE(;WA\O;E SP‘ESCO\ F‘\‘EOD‘ @76 - ——
T Dr | M PESSON 2006/ 11/14 0.X £0.3 | size Scale
Eng | P LEGARE 2006711714 MU Livear [ ooxx +0. | A? 211
> 6 Chr | P LEGARE 2006/ 11/14 | o |+ 0. XXX +0.05 ECN LS06-0174
- L ' Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
| & [© SUB FEMALE DM HE508 series|- ] ] e
SCAtEg FQJ/ - with right angle contact g C01-8637-1148 A
catalog no - CUSTOMER [sheet 9 of 3
2 3 4 5 6 e 8

D
™

D i, Dol - | .
LJIVI. TA\CV./M\ STATUSINCITAOCTU Frmed. UCt UL, ZULU



